
Wadkin 

INSTRUCTION MANUAL 

Medium Duty Spindle Moulder 

TypeBER2 
www.D

alt
on

sW
ad

kin
.co

m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



MEDIUM DUTY SPINDLE MOULDER 
TYPE BER.2. 

CON:TROL 

Diameter of top piece (Standard) 
Optional diameter of top piece 
Size of table 
Speed of spindle 
Rise and fall of spindle 
Table height 
Two circular table plates give openings of 
Size of fence plates 
H. p. of motor (3 phase) 

H. p. of motor (1 phase) 
Speed of motor 
Floor space 
Approx. nett weight 
Approx. gross weight 
Approx. shipping dimensions 

fiG .• I. 

SPECIFICATION 

It" 
!",1" 
30" x 36" 

3" 
33t" 
6. 5/8", 3~", 2t" 
14" x 4t" 

30" x 36" 
510 lb 
672.1b 
30~ 9 eu, ft. 

4,500 and '1,000 rpm 

3 (Standard) 
4 (Optional extra) 
3 
3,000 rpm 

30mm 
20mm, 25mm 
760 x 915mm 

'15mm 
850mm 
170, 90, 70mm 
355 x 115mm 

760 x 915mm 
230 kg 
305 kg 
• 87m3 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



" L. 

INSTALLATION 

R~n1(jve protective coating from bright parts by applying a 
cloth soaked in paraffin, turpentine or other solvent. 

LI I L2 L3 

swp? C 

Ql RUN 
1 

REMOTE LEVER 
CONTROL. 

r----­Q). RUN 
1 

REMOTE LEVER 
CONTROL 

WIRING DETAILS 

9LTRIF'~ 
MO'roB 

3 PHASE WIRING DIAGRAM 
FIG. 2. 

c 

FIG.3. 

The motor and control gear have been wired in before despatch, 
all that is required is to connect the power supply to the starter 
or isolator when fitted. 

Points to note when connecting to power supply :-

1. Check that the voltage, phase and frequency correspond to 
those on the motor plate, also the correct coils and heaters are 
fitted to the starter. 

4. Conned the line Jeads to the appropriate terminals. See fig. 
2 for 3 phase supply and fig. 3 for 1 phase supply. 

5. Check all connections are sound. 

6. Check the rotation of the motor for the correct direction. If 
this is incorrect, reverse any two of the line lead connections for 
3 phase supply. 

yoltage Phase H.P. 

220 3 3 
380/420 3 3 
550 3 3 
200/220 1 3 
230/250 1 3 
220 3 4 
380/420 3 4 
550 3 4 

Oil '"'\ w'''"' 

S. W. G. Tinned 
Copper Wire 

21 
23 
24 
15 
17 
19 
22 
23 

Oll pi vol 1:;:.11 
weekly 

29 
20 
17 
78 
65 
38 
24 
20 

ends of spindle 
one shot per ~ 

reaseboth 

(l-==-,-----"-- D week. 

Grease both ends 

Grease control 
cable weekly 

of motor 2 tUrns 
per year. 

FIG.4. 

LUBRICATION 

It is advisable to keep all bright parts covered with a thin 
film of oil to prevent rusting, 

TYPE OF OIL RECOMMENDED 
TYPE OF GREASE RECOMMENDED 
TYPE OF GREASE RECOMMENDED 

FOR BRAKE CABLE 

}'OWER EM125 
SHELL ALVANIA 3 
CASTROLEASE 
BRAKE CABLE 
LUBRICANT 

2. It is important that the correct size of cable is used to give FOUNDATION 
the correct voltage at the starter. Too light a cable will give a See fig. 5 for bolt iJositions and clearances reqUired. When 
voltage drop at the starter and may damage the motor. installing the machine level the table by packing under the feet. 

3. Check the main line fuses are of the correct capacity. See Foundation bolts are not supplied with the machine except 
list below. When an i solalor is fitted, the fuses are of the correct by special order. 
capacity ",s received. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



r-----(Si,;:MJ 

! /..------'-' __ "_----'--1 ~~, t 
I 

'---~-------------.--~/ / I '" J L- /'-+-'--'--

Jl-- 21;--~1 (546 MM) 

FIG 5 

FIG 6 

BELT TENSION 

o 

FIG 7 

mSE AND FALL OF SPINDLE 

The spindle rise and fall is by means of the handwheel "A" 
in fig. 

The rise and fall of the spindle is obtained through a worm­
wheel on a racked quadrant and has a maximum travel of 3" 
(76mm). 

The height of the spindle can be efficiently locked in any 
position of its travel by means of the locking lever "3". 

Whilst the rise and fall movement of the spindle provides an 
immediate adjustment to the cutter height, further adjustment 
outside the range of this can be effected by re-pOSitioning the 
collars on the. work spindle. 

The spindle should be rotated by hand whilst raising or 
lowering the spindle in order to prevent excessive stretch on the 
belt. 

4. POSITION CONTROL BOX 

The control box is shown in fig. 7 

Position 1 

This is marked "run" and is the only control lever position 
where the machine can be operated. 

Position a 
This position is marked "free" when the control lever is in 

this position the motor is isolated and the work spindle can be 
rotated by hand. The control lever Should be in this positionat 
all times when the machine is not required for operation to ensure 
the machine cannot be started up accidentally. 

This pOSition should also be used when setting cutter equipmenl 

The machine is driven bv an endless flat belt from a 3 H. p. ~~ition 1· 
motor mounted on a hinged biacket inside the base of the machire. This position is marked "brake". Movement of the control 
A handwheel removes the tension on the belt for changing the lever from the "run" to this brake pOSition automatically switches 
speed of the machine spindle. off the motor and light pressure on the lever operates a very 

To change the speed the undermentioned procedure should be efficient brake to the spindle. 
followed: -

1. Check the control handle is in the "free" position :1S described 
in the following section. 
a. Open the door at the rear of the machine for access to the 
pUlleys. 
3. Remove the tension on the belt by unscrewing the handwheel 
"AfT in fig* 6. 
4. Select the required speed and re-tension the belt by screwing 
the handwheel "A". 

Position 4. 

This position is marked "lock". Whenthe controllever is in 
this pOSition the motor is isolated and the main spindle is lock",d 
to facilitate the removal of the work spindle or cutter equipmelll 
as required. The spindle may require rolatingby hand to ensure 
the lock is fully engag'ect. before attemptillg 10 change cutter 
equipment or the work spindle 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



15 

13 

12 

MAIN FRAME 
ASSEMBLY. 

5 

12 

~. Part No. No.Off Desc ription 

1 3 t" whit x ~" long round head screw 
2 B-1046/8 1 Small table ring 
3 B-1046/7 1 Large table ring 
4 4 3/16" whit x t" long socket head grub screw 
5 4 3/16" whit lock nut 
6 D-1046/2 1 Main table 
7 4 3/8" whit x 1.3/8" long stud 
8 4 3/8" washer 
n 4 3/8" whit nut 
10 84 ADS 1 MEM Starter (3 phase, 3H. p. & 4H. p. 

50 cycles) 
10 AT3 1 Brook Starter (3phase, 3 H. p. 60 cycles) 
10 ZT3 1 Brook Starter (1 phase, 50 & 60 cycles) 
11 D-I046/1 1 Main frame 

3 -4 
5 

-4 
5 

-l-------II 

12 

~1j-----18 

Ref No. Part No. 

12 
13 

14 A-I037/15 
15 
16 A-1024/57 
17 C-1046/17 
18 A-I03D/31 
19 Pat! No, 14 
20 
21 C-1046/5 
22 
23 0-1046/16 

No. Off 

16 
16 

2 
2 
2 
2 
2 
2 
4 
2 
2 
1 

When ordering replacement parts quote 
part no. and serial number of the machine. 

Description 

3/8" cadmium washer 
3/8." whit x }"Iong cadmium hexagon head 
bolt 
Door cam 
t" whit x 3/8" long socket head grubscrew 
Spring Ior door lock 
Door for base 
Spindle for door cam 
2" dia, p1af?tic handwheel, ~II whit 
Corner fillet for base 
Foot for base 
~" bure X 7/8" Old X 1" long oilite bl.lSll 
Sheet Steel Base 

s. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



49 

48 

47 

SPINDLE HOUSING ASSEMBLY 
Re! No. ParI No. NO.Off Description 

30 4 3/B" whit xl" long hexagon head bolt 
31 2 ~n whit Ilut 
32 1 ~I! whit X 3" long hexagon head bolt 
33 1 t" whit x 3/8" long socket head grubscrew 
34 1 i" whit x 1" long socket head grubscrew 
35 A-I046/47 1 Rise and fall locking stud 
36 0-1046/3 1 Spindle housing bracket 
37 A-I046/45 1 Quill Rise and fall locking shaft 
38 A-I038/33 1 Quill locking handle 
39 Pall No. 2B 1 H" dia plastic ball 3/B" whit 
40 1 5/6" whit x 211 long stud 
41 C-1046/8 1 Riat and fall braCKet 
42 1 5/8" whit washer 
43 2 ~'! whit X tIt iong socket head grubscrew 
44 5/B" whit locknul 
45 3-103!J /42A 1 Racked quadranl for rise and fall 
46 3 3/8" whit x 1!1 long cadmlUnI hexagon head 

bolt 

Hef No. Part No. NO.Off 

47 A-I026/29 

48 A-I026/65 
49 A-I026/29 

50 2 
51 1 
52 A-1026/32 1 
53 B-I046/44 
54 

55 B-I026j8 
56 A-1026/22 
57 Patt No. 14 
58 A-S-10l 
59 No. 5555-37 
60 Patl. No.4 

52 

NOTE :-

When ordering replacement parts quote 
part no. and serial number of the machine. 

Description 

Collar for rise and fall shaft (without 31B" 
whit hole) 
Fibre washer for rise and fall shaft 

56 

Collar for rise and fall shalt (with 3/8" whit 
hole) 
3/16" dia x 1~" long groverlok spring dowel 
3/8" whit x 3/8" long socket head grubscrew 
Worm fol' rise and fall shaft 
Rise and fall shalt 
3/1611 whit x li·t< long groverlok spring 
dowel 
Handwheel 
Washer for handwheel 
2" dia plastic handwheel ;t! whit T. R. T. 
Spindle for 3" plastic handle 
3/8" Gnp ring circlip "Truarcl' 
3" long plastic handle 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



, 
c ?' / -, , 

I 
._-> -. 

SPINDLE ASSEMBLY 
Ref No. Part No. No. Off Description 

70 A-1046/32 I Spindle nut (It" spindle) 
A-I046/63 1 Spindle nut (30mm spindle) 

71 A-I046/3I I i" Spindle collar (It" bore) 
A-1792/152 1 6mm Spindle collar (30mm bore) 

72 A-1046/31 1 ~" Spindle collar (It" bore) 
A-1792/152 1 12mm Spindle collar (30mm bore) 

73 A-I046/31 1 1" Spindle collar (It" bore) 
A-1792/I52 1 25mm Spindle collar (30mm bore) 

74 A-I046/31 1 l~" Spindle collar (H" bore) 
A-1792/152 1 38mm Spindle collar (30mm bore) 

75 B-I046/30 1 It" dia. work spindle 
B-I046/95 1 30mm dia. work spindle 

76 1 5/32" dia x 5/8" long groverlok spring dowel 
77 1 }" dla x 5/8" long groverlok spring dowel 
78 B-I046/80 1 Spindle drawbolt 
79 A-I046/23 1 Spindle top locknut 
80 6208.C50 2 S. K. F. Bearing 
81 C-1046/22 1 Main Spindle 
82 1 5/16" wide x t" thick x 4.3/8" long key 
83 EPL.58 1 EMO. Pre-Ioad waved washer 
84 B-1046/25 1 50 cycle spindle pulley 

B-1046/79 1 60 cycle spindle pulley 
85 A-I046/29 1 Spindle pulley locknut 
86 3 1" whit X tu long socket head countersunk 

screw 
87 H.O.I.t"B.S.F 2 Grease nipple straight type 

liB 

Ref No. Part No. No.Off Description 

88 
89 
90 
91 
92 
93 
94 
95 
96 
97 
98 
99 
100 
101 
102 

103 
104 
105 
106 

B-1046/6 1 Dustcap for Quill 
1 !" whit x 3" long hexagon head bolt 

A-1046/2B 1 Rise and~ fall peg 
C-I046/4 1 Spindle Quill 
C-I046/1O 1 Brake~ housing for Quill 

3 tit whit X t" long countersunk SCrew 
B-I046/24 1 Brake drum 

2 5/16" whit x !" long hexagon head bolt 
B-1046/21 1 Band brake 
A-I046/37 1 Pin for spindle lock 

2 ~" bore x 5/8" old x :t" long oilite bush 
1 t" whit x t" long socket head grubscrew 

A-I046/3B 1 Link for spindle lock 
1 tl' whit X l' f long bolt 
1 Meteor flat belt 22~" long x I" wide (3 phase, 

1 each 
50 cycles) 1<:"St044'-~ \<:.'5 '9.~q.:t{ 
Meteor flat belt 24!" long xl' Wide and w2' 
long X J" wide~ (1 phase, 50 cycles) 
Meteor flat belt 21~long x 1" wide (3 phase, 
4 H. P. 50 cycles) Si 04.l,I.e.(" 
Meteor flat belt 24t" long x 1" wide (3 phase, 
60 cycles) 

2 fit B. S. F .. nut 
A-I046/ 85 1 Nipple for brake 
A-I044/69 1 Spring for brake cable 
B-I046/75 1 Cable assembly 

RING FENCE ASSEMBLY 
EXTRA 

Ref No. Part No. NO.Off Description 

110 
111 
112 
113 
114 
115 
116 
117 
118 

B-S-I-B 2 3/8" whit ball lever screw 
B-1792/132 1 1 It X ~II Filboe 
D-1792/60 1 Ring fence column 

2 ~" whit x 1~" long hexagon head bolt 
2 ~" whit washer 
1 3/8" whit x ~" long square head bolt 

C-J046j59 1 Bracket for ring fence column 
A-I039/54 1 Ring fence arm 
D-1792/56 1 Ring fence 

NOTE:-

When ordering replacement parts quote 
part no. and serial number of the machine. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



8, 

120 121 122 

128 

MOTOR MOUNTING ASSEMBLY 

ner No. Part No. NO.Off Descripti~" 

120 Patt No. 14 1 2" dia plastic handwheel }" whit T. R. T. 
121 1 !H washer 
122 A-I046/B3 1 Spring for belt tension 
123 A-I04B/87 1 Stud for motor tension 
124 A-I046/46 1 Motor pivot shaft 
125 B-I046/14 1 Bracket for belt tensioning 
126 2 3/8" whit xl" long socket head grubscrew 
127 2 1/8" gas x 1" long socket head grubscrew 
128 B-I04B/13 1 Molor pulley 
129 4 3/8" whit x !" long cadmium hexagon head 

bolt 
130 12 3/8" cadmium washer 
131 2 5/16" whit X ~" long hexagon head bolt 
132 3/16" wide x 2" long key 
133 3/8" whit xli" long cadmium hexagon head 

boil 
134 3/8'" wtnt x ~!! long- countersunk screw 

123 

135 

Ref No. 

135 

136 

137 
138 
139 
140 

124---1 

125 

126 

J 

130 

NOTE :-

When ordering replacement parts quote 
part no. and serial number of the machine. 

Part No. No. Of! Description 

1 Brook motor, MB6,3,000 R.P.M. 3 H.P. 
T.E.F.e. fool mounted (3 phase 50 cycles) 
Brook motor, M66, 3,600 R. P.M., 3 H. P. 
T. E. F. e. foot mounted (3 phase 60 cycles) 
Brook motor, D 184, ,1,000 H.P.M. 3 H.P. 
T. E. F. e. foot mounted (l phase 50 cycles) 
Brook motor, 90L, 3,OOOR,P.M. 4H.P. 
T. E. F.C. foot mounted (4 H. P., 3 phase, 
50 cycles) 

C-1046/88 1 Motor platform fOl" MG6 motor 
C-I046/78 1 Motor platform for 184 motor 
C-I026/12 1 Motor platform for 90L, motor 

4 3/8" whit cadmium nut 
D-I046/90 1 Motor pivot bracket 
A-1002/52 1 Retaining VJasher 

1 ~fI whit x 1 fl long hexagon head bolt 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



~154 

ya 
155 

FENCE ASSEMBLY 
Rei No. Part No. 

150 A-1029/59 
151 
152 
153 B-1046/56 
154 
155 8-1046/52 
156 0-1046/50 
157 B-S-1-B 
15B A-1046/55 
159 
160 Patt No. 32 
161 
162 
163 
164 

No. Off Description 

1 
5 
1 
1 
1 
1 
1 
1 
1 
2 
2 
4 
4 
2 
2 

Knurled knob for guard 
3/8" washer 
3/B" whit xl" long stud 
Shield lor guard casting 
3/B" whit x 3/8" long socket head grubscn"'! 
Guard casting for adjusting lence 
Cover for adjusting fence frame 
3/8" whit ball lever screw 
Arm 101' guard casting 
t" whit x 5t" long hexagon head bolt 
'1~" dia. plasUc handwheel 3/8" whit .. 
3/8" whit lockout 
3/8" whit X l~ft long brass grubscrew 
3;'8" whit x 1~" long brass stud 
t" washer 

NOTE:-

When ordering replac~IJlent parts quote 
part no. and serial number 01 the machine. 

Rei No. Part No. 

165 A-1046/53 
166 0-1046/49 
167 A-1029/41 
168 
169 Patt. No. 14 
170 
171 
172 B-1046/54 
173 B-1046/51 
174 8-1046/51 
175 
176 
177 

CONTROL 
Ref No. Part No. 

180 
181 
182 A-1046/33 
183 
184 
185 
186 
187 B-1046/20 
18B 
189 A-1046/40 
190 B-1046/19 
191 B-1046/75 
192 C.Y.W.2 
193 C-I046/1B 
194 A-1046/84 
195 
196 A-I046/34 
197 
19B B-I046/15 
199 A-I046/35 
200 
201 Patl No. 28 

158 
159 

/ 160 

174 

@--lilO 

Jl---171 

Am Z ~I ); 

No.Off Description 

2 Fence rack bar 
1 Adjusting. fence frame 
2 Fence adjusting pinion 
2 5/16" bore x ~" old x 'I" long oUite bush 
2 2" dia.plastic. handwheel 5/16" plain bore 
6 3/B" whtt spring washer 
6 3/B" whit x 1" long socket head cap screw 
2 Fence front plate 
1 Right hand fence front adjusting bracket 
1 Left hand fence front adjusting bracket 
2 3/B" whit xl" long hexagon head bolt 
2 3/B" whtt x 1~" long stud 
2 3/B" whit wingnut 

BOX ASSEMBLY 
No. Off Description 

1 ~" whit aerotight nut 
2 ~II washer 
1 Brake swivel pin 
4 tll whit X i" long hexagon head bolt 
2 3/16" whit nut 
2 3/16" washer 
2 3/16" whit x 1~" long countersunk head screw 
1 Instruction plate for control box 
4 ~Il whit X ~II long round head screw 
1 Control handle 
1 Cover for control box 
1 Cable assembly 
1 Burgess micrO switch 
1 Control box 
1 Spring for handle 
1 tn whit :\ 1 ~ n long hexagon head bolt 
1 Brake lop 4nchor plate 
2 ~II whit x a/H" long socket head grubscrew 
1 Yok~ for brake 

¥rake pi "?1 pin 
-iu wlut x '11\ ~ong socket head grubscrew 
] ill dia plashc llall, 3/8" whit 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



10. 

228 

227 

~~~-
222 

223 

224 

221 

229 

227 ~ 
226 225 218 

1--~-210 

RING GUARD ASSEMBLY (EXTRA) 
Rer No. Part No. No. Off Description Ref.No. Part No. 

210 D-1792/109 3 Shield for canting ring guard 220 C-1046/59 
211 1 ~.n whit X 3/8" long socket head grubscrew 221 D-1792/111 
212 1 tIt whit x t" long cheese head screw 222 
213 D-1792/113 1 Arm for canting ring guard 223 D-1792/112 
214 D-1792/114 1 I" x I" filboe for cantlng ring guard 224 
215 B-S-I-B 2 3/8" whit ball lever screw 225 Palt. No.14 
216 D-1792/60 1 Ring guard column 226 
217 2 fr" whit x H" long hexagon head bolt 227 A-1029/59 
218 3 ~" washer 228 
219 3/8" whit x ~" long square head bolt 229 D-1792/110 

241 

241 

213 
214 

216 

No. Off Description 

1 Foot for ring guard 
1 Pivot bracket for canting ring guard 
1 ~1I whit x 1~"" long stud 
1 Pivot pin for canling ring guard 
2 3/8" whit x 1" long coachbolt 
1 3 It dia. plastic handwheel, ~II whit blind 
3 3/8" washer 
3 Knurled knob for guard 
1 3/8" whit xl" long stud 

Top piece for canting ring guard 

~241 

242 

='1 
I:: 

:: ~5 
!~ 

244 
245 

248 

SHAW GUARD ASSEMBLY (EXTRA) 
Rei No. 

, 240 
241 

~ 242 
243 
24 j 

., 241) 

Par1 No. 

A-I046 '57 
B-S-I-B 
D-1792/65 
NO.8 

n-1792.'45 

No. Off 

4 
2 

Shaw guard cantilever arm 
3 'A" whit ball lever serew 
~" x ~., filhoe 
~" lonh black jappaned rnund heari screw 
:lI16" washer 
Shaw guard pressure spring 

244--~246 

247 

Ref.J!~ Part No. 

246 
247 
248 0-1792/44 
249 • A-1039/14 
250 • A-I046 '58 

No. Off Des~ ription 

5/16" spring washer 
5/16" whit x B" long hexagon head boil 
Wood shoes for shaw guard 
Front pressure bracket for shaw [{\lard 
Shaw guard top pressure bar 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



EXTRA EQUIPMEN1' o. 

GUAROS l FENCES. 

SHAW GUARD:- This guard provides top and side pressures and 
ensures safety in operation for use with the standard fence or as 
effectively with the ring fence for curved work. 

RING FENCE: - This fence is for use on all types of curved work. 

SAFETY GUARD:- Tbis guard bas adjustable flaps and is for 
use· with the ring fence and completely covers the work spindle 
and cutter equipment. The guard swings away for ease· of access 
when setting the cutterS. 

ATTACHMENTS. 

SLIDING TABLE TENONING ATTACHMENT : - This can be 
quickly adapted for a variety of tenoning operaiions. The maximum 
sizeof timber which can be admitted is 10" wide. x 3" deep (254mm 
x 76mm). USing two 5" dia. (127mm) cutterblocks tenons up to 
2" long (50mm) can be cut in one pass. This attachment can also 
be used for other operations such as halflapping, corner locking 
and for short panels and caps which are difficult la hold by hand. 
Using a 4" dia. (lOlmm) flush mounted cutterhead tenons up to 
4~" long (113mm) can be cut at two passes by turning tlle limber 
over. 

OVERHEAD TYPE TENONING ATTACHMENT :- When used in 
conjunction with. the sliding bible attachment and4" dia. (101 mm) 
flush mounted cutterheads, tenons up to4~"(1l3 mm) long can be 
cul in one pass and 6" (152 mm) long in two passes. This 
attachment isaself contained unit with a 2 H. P. motor and flat 
belt drive to the spindle. It can be quicKly offset in relationtothe 
machine spindle for unequal tenons. www.D

alt
on

sW
ad

kin
.co

m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



12. 

DOYETAIL ATTACHMENT TYPE EE;- For board upto 12" (305 

m/TiT urwe §UDPllfld cOmplBII? with comb plate. collet adaptor and 
3/8" dia. ( 9 mm) H. type collet. 

This attachment is a very simple efficient device for 
dovetailing'two boards at right angles to each other, They are 
clamped in position and suitable stops are provided for setting. 
Both the dovetail and the pin are produced at the same operatIOn, 
and the pin is rounded so that no hand work is necessary. , 

Guide plates and bits are available for the followlflg pItches 
~". 5i 8", ';", 1", ltn and 1~". (13 mm, 16mm, 19mm, 25mm, 
32 mm and 38 nm,). 

5" e 
PITCH 

J" 
"'4 

PI TCH 

Note:- When ordering spare dovetail bits, please specify pitch 
size nol the diameter of the bit. 

STAIR HOUSING ATTACHMENT:- This attachment consists of 
template guide roller, arm and pillar. 

ThIs attachmenl ca,) b(' fitted in a few minutes. The roller 
guide which controls the cut, is rigidly carried on a solid steel 
arm from apillal' and centred with the spindle. The template is 
secured to stair string hy means of a hand nut. The template is 
reversible to produce a pair of strings right and left hand without 
resetting. Marking out is practically eliminated and a complete 
pair of strings can be cui in less tUlle than is normally taken in 
marking out 

SPINDLES AND ADAPTORS. 

STANDARD LOOSE SPINDLES :- {",I" or 1+" dia (20mm, 25mm 
and 30mnJ)available. These are for carrying standard bore cutter 
blocks, slotted collars, grooving saws, etc. The spmdle threads 
are right hand, and all spindles are supplied With locknut and a 
sel of making up collars. 

JP 

SLOTTED FRENCH SPINDLE :- For carrying onc ~-" (6mm) thick 
cutter only, which is secured by a hardened steel set screw 

MaJomum recommended speed :- 4,500 rpm 

COLLET TYPE ROUTER ADAPTOR :- This adaptor is supplied 
complete with 3/8". ~" and 9/16" (9mm, 13mm, and 14mm) "Rn 
type collets. It enables standard router cutters to be used. 

( ( 

ADAPTOR FOR STAIR HOUSING ATTACHMENT :- Special adaptor 
having a 5/8" bore (16mm) to accept both "Z" type of clothes peg 
type cutter 

ADAPTOR SPINDLE FOR TENONING ATTACHMENTS:- This 
spindle is 'specially screwed for-aTfusT)-,nounted cuHerhead and is 
available for both the standard machine and the overhead tenoning 
attachment. These spindles with a flush monnted cuttel'head are 
particularly suitable for working drip grooves in sills and other 
large sections as well as for use with the tenoning aliachment. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



CUTTER EQUIPMENT 

CIRCULAR CUTTERBLOCKS:- These cutterblocks have wedge 
type clamping for safety. They are smooth running and used for 
facing or shallow rebates etc. 
For 1" dia. work spindle :-

PLAIN SLOTTED COLLARS ;- 3~" (89mm) diameter circular cutterblock, 3" (76mm) long or 2" 
---- (50mm) long. 
For ~" (20mm) dia, work spindle :- 2i" (57mm) dia, with}" (6m.w 
wide slots. Mt,:-;>d~um recommend~d speed :- 7,000 rpm 

M· . tt" 1 2 3 " (70 ) For I. dla. work spmdle .-
lrnmum cu lllg Clrc e:-.. mm 4" (102 ) d' t . 1 tt bl k 3" (76 )1 F 1" (25 ) d' k' dl . 21." (64 ) di ·th 1." (6 .w' mm lame er ClrCU ar cu er oc , mm ong. 

?dr 1 t mm la. wor spm e. - 2 mm a. Wl. m Maximum recommended speed : _ 7,000 rpm 
Wl esos 

Minimum cutting circle :- 3" (76mm) 
For li" (30mm) dia, work spindle:- 3" (76mm) dia. with i" (Smm) 
wide slots 

Minimum cutting circle :- 3.5/8" (92mm) 
Slotted collar cutters have many advantages, they have a good 

cutting angle, a comparatively small cutting circle and are easy 
to shape, maintain and re-grind and also inexpensive. The 
maximum cutter projection should not exceed 5/8" (I6mm) to 

, ensure maximum st rength and support. 
2~" (Mmm) dia xI" bore or t"(25mm or 20mm) bore ball bearing 
type slotted collars also available. 

BALL BEARING GUIDES;- Available in two sizes for 3l" and4" 
cutterblocks (89mm and iOlmm) 
3~" (89mm) dia x :1:' (20mm) or 1" (25mm) bore. 
4.1/8" (l04mm) dia x t" (20mm) or 1" (25mm) bore. 

FLUSH MOUNTED CUTTERHEAD :-

4" (102mm) diameter with screwed bore, for use with special 4" 
adaptor spindle. 

For standard machine right hand thread. 
For overhead tenoning attachment left hand thread. 
Maximum recommended speed :- 7,000 rpm. 

TWO KNIFE WEDGE TYPE MOULDING CUTTERBLOCK 

These cutterblocks are designed to lake from 5/32" (4mm) to 
}" (6mm) thick cutters this permits tungsten carbide tipped cutters 
to be used when necessary. 

The cutters can be used for mouldings requiring up to ~" 
(13mm) cutter projection when using i" thick cutters 4" (102mm) 
dia x 15/16" (24mm) thick x 1 "(25mm) bore Part No. QR60. 

This block uses 5/32" (4mm) thick cutters only. 

4.7/8" (l24mm) dia. x15/16" (8mm) thick x 1" (25mm)bore.Part 
No. QR l1/B 

4.7/S" (124mm) dia. x 15/16" (Smm) thick x 1t" (30mm) bore. 
Part No. QR l/B 

SQUARE CUTTERBLOCKS:- These cutterblocks are used for 
long runs, cutters working in pairs. Two or more pairs may be 4.7/8" (124mm) dia. x H" (32mm) thick le 1~" (30mm) bore. Part 
mounted on a single block to build up a mould. No. QR 2 

For 1" dia, (25mm) work spindle:- 4.7/8" (124mm) dia. x 1 t" (38mm) thick le 1t" (30mm)bore. Part 
21" (64mm) s-q'uare x 3" (76mm) long complete with 4 - ~ .. whit No. QR 10. 
)3mm) dovetails cutter bolts, nuts and washers. 

Maximum recommended speed :- 4,500 rpm. 4.7/S" (124mm) dia x 2" (50mm) thick x l~" (30mm) bore. Part 
For It'' dia work spindle No. QR 3 ' 

3k" (89mm) square x 3" (76mm) long complete with 4 - 5/8" whit 4 7/8" (124 ) d' x 2" (50mm) thick x 1-.'" (30mm) bore. 4 Knife 
dovetail ~utter bolts, nuts and washers . mm la. 

i.Taximum recommended speed :_ 4',500 rn. rn Part No. QR 66 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



14. 

WOBBLE SAW :-

These saws are used where varied widths of grooving are called 
for, and where quantities are small. They are not recommended 
for quantity production or where precision accuracy or the highest 
standard of finish is required. 

6" (151mm) diameter for grooves 1/8" to ~" (3mm to 19mm) 
For use on 1" and It" dia (25mm and 30mm) spindles. 

4" (102mm) diameter for grooves 1/8" to t" (3mm to 13mm) 
For use on +" (20mm) dia spindles. 
Maximum recommended speed. 4.500 r. p. m. 

CUTTERS. 

CUTTERS FOR QR BLOCKS 

VZ Cutters 5/32" thick T.C. Tipped 
.i!f1 on cut VZ VZ/T .. 
1" on cut VZl VZI/T 
l·~" on cut VZ2 VZ2/T 
11.0 on cut VZ3 VZ3/T 2 
l}H on cut YZ4 4 

2" on cut VZ5 VZ5/7 
2~t1 on cut VZ6 

t" Thick T. C. Tipped 
.l." on cut VZ20 " 
1" on cut VZ21 VZ2I/T 
1 ~}II on cut VZ22 VZ22/T 
l!H on cut VZ23 VZ23/T 
11ft on cut VZ24 ·1 

2" on cut VZ25 
2_~H on cut VZ26 
2!" on cut VZ27 

Router Cutters: 

CUTTERS FOR STAIR HOUSING ATTACHMENT:­

Z Type and Clothes peg type 5/8" dia shank. 

These cutters are designed to give a slightly undercut trench 
and perfectly uniform wedge space. All have 5/8" dia shank. 

CUTTERS FOR SQUARE CUTTER BLOCKS 
& 

SLOTTED COLLARS 

Rebate & Square Irons 

For 2~" square cutterblock :­

Rebate Irons 

Part Nos. 

On Cut R.H. L.H. 
!.11 VQl VQ2 2 

5/8" VQ3 VQ4 
3.,1 VQ5 VQ6 4 

7/8" VQ7 VQ8 
1" VQ9 VQI0 
I-t" VQll VQ12 

For 31" square cutterblock :­

Rebate Irons 

Part Nos. 

On Cut R.H. L.H. 
!n TBI TB2 2 
5/8" TB3 TB4 
~It TB5 TB6 4 

7/8" TB7 TB8 
1" TB9 TBlO 
l·!.n TBll TBI2 
If" TB13 TB13a 

- -

Square Irons 

On Cut Part Nos. 

VQ13 
VQ14 
VQ15 
VQ16 
VQ17 
VQI8 

Square Irons 

On Cut Part Nos. 

TB 14 
TBI5 
TBI6 
TB17 
TBl8 
TB19 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



~./!) 
~. 

Scati:! Cutters 

Tom:uinr; and Groovin~ Irons For 2}" sq. Fa" 3}" sq. 

FOl' 2}" square cutterblock :- For 3}" square cutlerblock :-
cutterblack cutlerlJlack 

Part No. Part No. 

Size Tonguing Grooving Tonguing Grooving 
Cutter Cutter Cutter Cutter 

1/8" VSI VRl TV TX 
3/10" VS2 VR2 TVl TXI 
, VS3 VR3 TV2 TX2 

5/10H VS4 VR·I TVJ TXJ 
3/8" VS5 VR5 TV, TX4 

Fot' 2:" di:! slOllcd call:lrs :- For J" di" slott cd collJ.rs:-
P:\rt No. P:lft No. 

Si;,c TOIl~in~ G roovin~ Ton~in!: Groovin:; 
CUll er Cull e ,. Culter Culter 

3/1 G" DVLI OVJ I VLI VJI 
OVL2 OVJ2 VU VJ2 

5'1 Ij" OVLJ OV.JJ VLJ vn 
3i8" OVU OVJ·; VL-l VJI 

~ 
] 

~~ ( 
J 

.)vola Cutters 

For 2~" Square Cutterblock 

Dim A. 
~., . 

313" 
~" 
5/S" 
I" ., 

7/8" 
I" 

Part No. 

BTFl 
BTF2 
BTFJ 
BTn 
BTFS 
BTF6 
BTF7 

For 2~" di:!. Slotled CuttcrlJlock 

Fot' 2}" db. Slotted Collars 

Dim A. 
.I.> 

3/0" 
~" 

5/S" 
.-!. .. , 

7/S" 
I" 

Part "0. 
BTHl 
BTH2 
BTH3 
BTH4 
BTHS 
BTH6 
Bnn 

For 3~" Squ::trc Cutlerblock 

Put No. 
TFl 
TF2 
TFJ 
TF4 
TF5 
TF6 
TF? 

For 3" dia. Slotted Colbrs 

PHt No. 
THI 
TH2 
TH] 
TH4 
TH5 
TH6 
TH7 

Dim A. Part "':0. P:.\rt No. 
! .. OTJI TJI < 
3/8" BTn Tn 
! .. OT J3 Tn 
5/3" OT.14 T.l·1 
l .. OT .15 T.J5 , 
7/S" BTJG TJG 
I" OT J7 TJ7 

Oe:Idinf! Cutler, 

For 2~" sq. For J;" sq. 
cutlerLJlock cuttcrlJlock 

DI rn. t\ P:lrt :-:(). P:1:-t :-':0. 
I,,' rlT" I T:"'l 
J/B" OT~~2 T:"'2 
' .. DT:-':J T:"'] 
5:S" £1T:-':': T;--':·i: 

[JT~;'j 1':-.:5 
7/8" nT~G T;'-:G 
I" OT:-;, T~;, 

l. I/o" [JT:-':o T:-:S 
1 ~ .. OT:-':9 T:--'-9 

I.J '6 OTNIO TNIO 
I ~ .. OT,,1 I T" I 1 

S:!sh Cutters 
For 2i" sq. For ]~ .. sq. 
cult er block cultcrblacl-: 

Dim :\ P3.rt No. P3.rt No. 
1.3/8" OTfU BnU 
1.5/8" DTR2 TR2 
1. 7/S" DTRJ TRJ 

IS. 

For 2}"d,::t For J" di:t 
Slotted Slotted 
Coll::trs Colbrs 

Put "0. Part 1\0. 
BTU TLI 
ElTL2 TL2 
ElTU TL3 
BTU TL4 
ElTL5 TU 
ElTLG TL5 
ElTL7 TL7 

For 2~" dla For J"d::l 
Slotted Slolted 
Collars Colbrs 

P:!rl :-':0. P:lrt ~o. 
ElTPl TPl 
ElTPZ TPZ 
OTI'J T['] 
OTI''; Tp·t 
13TP5 TI'S 
OTPG TP'; 
OTP, TP, 
OTPS TPa 
OTP,) TP'J 
OTPIO TPIO 
OTPll TPIl 

Par 2~" dlJ. For J" ci:! 
Slot led Slotled 
Coll:lrs Col!:>.rs 
P:ut No. P3.rl \0. 
DTT! TTl 
DTT2 TT2 
BTTJ TT) 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



16. 

::-ull Nosing Cutters 

For 2t" sq. For 3~" sq 
cutterblock cutterblock 

)im A P;lrt No. Part No. 
510 BVFl VFl 
5/8" BVF2 VF2 
1.,. BVrJ VF3 . 
7/8" BVF·I VF-I 
1" BVFS VFS 
1.1/8" BVF6a VF6a 
1 ! .. ~ DVF6 vro 
I}" DVF7 VF7 
I .~ •. BVFB V P8 
2" BVF9 VF9 

0-1\1 
)~ A 

~~ 

Cutters 

Po r J i" sq. 
cutterlllock 

mA PHt ;-':0. !,. VDl 
5/8" VD2 
.~ .. VDJ 
7/0" VB-I 
I" VB5 
1 \'36 
1 " VO? 
I 

., 
V08 
V09 

arc Edf';e Cutters 

Cut For 2~" db 
Slotted 
Collars 

I, 
BVNI 

I" BVN2 
1" BVNJ -. 
~" BVN4 i .. BVN5 . 

BVN6 
BVN7 
BVNB 
BVN9 
BVNIO 

For 2~" db 
Slotted 
Collars 

Part No. 
BVHI 
BVH2 
BVHJ 
BVH4 
BVH5 
BVH6a 
BVH6 
BVH7 
BVH8 
BVH9 

For 3" dia 
Slotted 
Collars 

Part No. 
VHI 
VH2 
VHJ 
VH4 
VH5 
VH6J. 
VH6 
VH7 
VHS 
VH9 

For J" diJ. 
Slotted 
CollJrs 

Part No. 
VOI 
V02 
VDJ 
VD4 
VDS 
V05 
VD7 
VD8 
VOg 

For 3" db 
Slotled 
Collars ------
VNI 
VN2 
VNJ 
VN4 
VN5 
VN6 
VN7 
VN8 
VN9 
VNIO 

CUTTERS M·m CUTTER STEELS FOR SPINDLE MOULDERS 

Special grades of steel are used for making cutters for 
different duties and 2pplications on the spindle moulder. The 
following is a rough guide. 

High speed steel on iron is used (or long life and for cutting 
hard woods. High speed steel is brittle and is usually welded to 
a softer steel back for all types of unsupported irons. These ;lre 
used on square cutterblocks, slotted colbrs and some thin knife 
moulding cutterblocks. A brge range of irons for the square 
cutterbloch: and slotted colbrs are readily available in this steel. 

Solid high speed steel :- is more brittle ;lnd j sonly used where 
the cutters are supported very close up to the cutting edge c. g. a 
thin knife on the circul:tr cutterblock, or where a strong section 
can be used such as a milled to pattern slotted collar cutter. 

Alloy steel on iron :- is less expensive than high speed steel 
on iron, ;lnd is more ductile. All0, steel is not as h;lrd and will 
not stand up to he:lvy cutting or hard "'oods as well as high speed 
steel. A hrge range of irorls (or the square cutlerblock and 
slotted collars :Ire readily available in this steel. 

Solid alloy steel :- is normall)' supplied in bar {arm in the 
soft condition {or cuLtin!; up by the cus:omer. It is easily hardened 
and tempered and is normally used {or french spindle "'ork up to 
6,000 rpm where cutters :lre held by a locking Screw in spindle, 
locking direct on to the side of the cutter. 

All the :!bove types C;ln be supplied in b:lr form, micrometer 
ground to preCIsion limits. The alloy and allo)' On icon 3/16" 
(50101) X ~ .. (20tllnt) up to :." (6rnnt) X J" (7601m) in the soft condition 
:lrld the solid hIGh speed steelS/ 3 2" (4 mnl) x 15" (3801 m) and 5/]2" 
(4mm) X 2" (50mm) :lnd hlf'h speed sleel on iron~" (6mm) xl;" 
(32mm) and ~" (6"'111) x 15" (J8nllll) In the head treated condition. 
These latter bars cannot be cut ,,:ith :l tool :lnd the blanks should 
be ordered to correct grindin~ len~hs unless the user h:ls suit:lblc 
grindIng wheel equIpment (or cuttinl; to length himself. 

All the :lbovc cutters c;\n lie t:round on the usu:ll sland:.lrd 
grinding equipment_ 

Tungsten c:lrllide tips:- These :lre SI)eClally m:lde for use 011 

h:lrdu.-oods, woods WIth h,,:h sillD content :llso plywoods :lnd 
hardboards where Hibh Speed Steel will not stand up 10 Iheabrasive 
:tetion. It is nluch more expensive but t:1 vcs .... ery nluch longer 
life. A limited ranr;e o( these cutters {or slotted collars and 
squ:lre cutterblocks:tre lY:Iil:IlIle. Speci:ll sh.1pes GIn besuppllt~d 

to order. 
N.O. Special diamond imprel;nated [;rIndlng wheels and dl:Imond 
h:lnd C;lPS arc esscntl:ll (or shapin!; "nd servicing Tunbst.::n 
Carbide Tipped Tools. Theseare av:ubblebut expensive for the 
sn1:l.11 user ror u:hom u..'C can offer .l cutter grtndlnb' scr ..... ice if 
rcqui red. 

SHAPfNC CUTTERS 

When shaping cuttcrs for ;lny mould on any type of cutterhc:ld 
Or slotted collars it is import:lnt that the Correct allou:;lnce is 
made to the depth of form cutter. 

FiG· 10 shows the projections of Ihe cutter 10 produce a simple 
rebate. For example using the 3~" squ:lrc cutterblock, to produce 
a 1" (25mm) deep reb:!t" the cutter must h:lY" a depth of (arm of 
1.3/16" (30mn» this being duc 10 thcanf:lc at which the cutter 
strikes the work on the line "AA". When a shaped mould is 
required to be cuI 11 is necessary la plot out the form of the cutter' 
this is shown in fib' 11. ' 

!t is important when selecting- bL:lnf;s from which to make the 
cutte!" th:lt they h;,,'c the minImum necessar), ove,hang. Also:! 
blank as nc:!r the shape and width as possible should be selected 
so thOlt there will be less waste and less ch~ng-e of overheating­
cutt ers when gnnding. 

The minimum cutting circle is fixed to give the nccess:!ry 
clearance Ior the bolt he~d when working- "'ith straight irons only. 

The cutting angle whIch is normally 35 0 is sho·.vn:!t "B", in 
fig. 10 andthecuttJngand the cuttingangle at "C" this an!,;le varie~ 
with the size of the cutterillock and the depth of the mould 

L 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



"'::.1' 

FIG. 10. 

To obL1.in theco:-l-eC( cutleT fonn [or.1 Sh:lpcd mould. \I.:tlhout 
using- cht! muulder:;; rule, It is HCt.:t.."SS::U":,: tOl_dot this out ..15 shown. 

First tht! sqU:l!"t: Gloe:':' .J.rld cuttt..'r ::J.t minittlu/:l cuttln;; ctn.:lt: 
:tre dr:J.\\.'nout:H "Y" in {i~.ll. Ther:l.diusorthClT1intmumcuttin~ 

circle is d,·.,wn :trou!:d to the centre line :tnd divided up by the 
ltnes .. \, !3,C, 0 J.nd E, imo ('tther 1/10" (2::10,) or I,'S" (31:":1) 

:lccordin~ t. tho,) ~jzc :1nd intric:.1cy or the sh:1pe. these linC's Arc 
then ,truc;': round fror.t the centre line r3di"ll,. to the bce of the 
cut( er .. 

.. \t ,.:-;: .. the lines .. \ I, £11, Cl, 01, and El arec:trr,ed:tcro:;s:is 
shlJwn . .1.150 :It '-\1.1" th-:- ",ould IS pnx1uccd c.,(.J.ctly .lS ~lt "Z'- .\flU 

di';idcd up th,: sJ.rt1e, the ltnes 1,2, J, 4 J.nd 'i which :tre fro,,, the 
potnts where lines A,!3, C, etc. intcrsccllhe ed<;c of the Illould, 
J.re lhen drawn ,,-cross la "X" thus El is cut b, I; 01 1;, ? ele.. 
The potnts of inlersecl,on J.re jOtncd J.S shov.-n lhus pVIl\<; the 
cot'recl projected (arm of the culler. 
. This t;!kes up consider;!ble lime to do (or each sh..'pe o( cute crs 
required, :tnd c:tn be very much reduced by using the moulder's 
rule as shown in (ig. 12. This is J. gr;!ph on which lhe (orm cJ.n 
be plotted ;!nd ;!ulom:llio.lly gives the necess:try ;!llowance on the 
depth of (orm. 

When the mould is to be a st:tndJ.rd, J. tempIJ.le should be mJ.de 
to t he projected (arm to which the cutters c;!n be sh;!ped when the 
job repe:tts. This will enSure uniformity on J.It future runs. 

/.lOULDERS RULE 

A perm;!nent moulder's rule c;!n be m;!de by the custom er tn 
sheet brass and aluminium and will then be handy for use In the 
workshop. 

To plot the form of;! cutter by use o( the moulder's rule it is 
nec ess"-ry to dr;!w the full siz~ shape of lhe mould on tr:lctn,; p:tper 
and rule 1/3"' (Jmm) squares as shown in fig. 12J.. ThiS is then 
"laced ;!longside the moulder's rule J.nd projected ;!cross, this 
will give a series of dOls which must be joined to <;lve Ihe form of 
the cutter. The cutter blank chosen must be wtde enough to gtve 
at least 1/S"' (3mm) ovedap beyond the edge of the mould. The 
depth of form of the cutter for the S;!me mould v;!ries slightl:r 
when used on a 3~" (89mm) or 2~" (64mm) square cutterblock due 
to Ihe different cutting diameters. Moulder's rules "re requircct 
[or each sizeof square block. The cutlers :lre not inlerch:lngeJ.ble 
from one sizeof cutterblock 10 another if J. really J.(cUr;!te mould 
is required. 

CORRECT FO ..... OF 
CUTn:~ 

"X' 

(Vll(Fl 

,.y" 

~(fU,\!" s ... ,.,;>£ 
o~ ".Ovt.O 

·z·· 

.... C1U"'1... ....OULO 

" 
I 

I 1\1 
I -'" 

I , ~ 
I I 

! I I 
I 2 J 4 I 

I 0 
1 J 0 ~ 

i=lROJ£C rED s...., ....... ~ 
OF C u! lE:1 FIG RA. 

,,' ., 

i-

-5 

., 
J, 

, t , 
, 

I I 

I , 
I 

I 

17. 

I 

I 

FIG.12 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



-4 

IMPORTANT 

Keep these faces 
clean and free 
from burrs. 

B 

WORK SPINDLE INSTALLATION 

.....b_--;'\ 

FIG.S. 

Before inserting the worl, spindle. select which of the three 
table ring openings you require. The two removable rings give 
hole sizes of 6.5/8". 3k" and 2~" dia, (170.90 and 70mml. 

To insert the work spindle the undermentioned procedure 
should he followed:-

1. Insert the work spindle "A" in fig. 8 i lto the main spindle 
through the hole in the table top. Great care should be taken to 
ensure that the work spindle and main spindle seatings are 
completely free from all burrs. dirt and rust. A thin film of oil 
should be put on the work spindle seatings before inserting. Line 
the peg in the work spindle with the slot in the main spindle and 
press spindle onto seating. 

2. 

c 

FIG. 9. 

FENCE ADJUSTMENTS 

Each fence plate can be independently adjusted by means of 
the plastic handwheels "A", in fig.9. The fence plates can be set 
to the desired position and locked by the plastic handwheels "B". 
The front fence plates can be made either of metal or wood and 
are adjustable endwise. 

The fence slide bars rest in accurately machined vee groO\\Os 
and ar., held in position by the two brass g'rubscrews on each bar. 
If the slide bars become slack adjust the grubscrews "C" by the 
required amount and relock in pOSition with the 3/8" whil locknuts. 
The fence plates should be locked both ways at all tllnes when the 
machine is in use. 

The fence is fitted with a safety guard and a "Shaw" guard can 
also be fitled if required. 

The safety guard is adiustable depending on the section of timber 
being worked. This guard is shown in posilion, in fig. 9. Toadjust 
the guard for various sections of timber unscrew the knurled knob 
"0". set to required posi:ion and relock the knurled knob "D". 

To adjust the safety guard in rela '0' to the fence plates 
unscrew the two ball lever screw "E". position Il,e safely guard 
and relock. 

GENERAL HINTS 

1. Use sharp cutters. reasonably balanced. 
Open access door at the front of the machine. 

2. Make good robust jigs and ensure the parts are located securely 
3. Move control Box Lever to "lock" position as previously on the jig. 
described. 

4. Insert the spindle drawbolt "B" up the centre of the main 
spindle and screw into the end of the work spindle and lock with 
spanner provided. 
Note :- Drawbolt thread is right hand. 

The spindle is now ready to receive the cutter eqUIpment as 
required. 

To remove the work spindle the undermentioned procedure 
should be followed:-
1. Lock main spindle as previously described. 
2. Open access door at the front of the machine. 
3. tT;lScrewthe drawbolt "B" and withdraw from the main spindle 
4. The work spindle "A" can now be removed hy lifting clear 
throug'" the hole in the table 

3. NEVER run the cutter equipment at hj,;hcr than the recommended 
speed. 

4. :\lways use the guards available to ensure maximum protection. 

5. Ensure the cutters are tight on the blocks betore starling up. 
Use the spanners provided and never fit a piece of piping to get 
greater le';" ·a:::;e. This will strain the nuts alld boils and ultimately 
make them unsafe. 

6. NEVER pack the cutters with sandpaper. This is most dangerous 
as the gnt collapses, when the cutter is working and the cutter 
works loose. For packing use one thickness onl; of thin browlI 
paper 

7, Keep nuts and bolls clean and use oil on the threads. 

~l1'lportant 8. When chanr;ing cutter equipment always ensure the ";1achine 
Alw~ys ensure at all times that WOt\, spindL b ,,·curd. held cnnlrol lever is in the free or lock position. If in doubt isolate 

hv drawboll before starting the machine. the machine electrically. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com




